Resonance Parameters Lineshape Value references
X _ mgy = 891.66 £ 0.26
K (892) Ty = 50.8 = 0.9 RBW [27]
Re(/\o) =0.204 £+ 0.103
(Km)g Im(Xo) =0 EFKLLM [28] (28]
0 6()\1) = 1
Im(\s) =
" _ mo = 1425.6 i 1.5
K3(1430) 190 085497 RBW [27]
“ _ mo = 1717 £ 27 ,
K*(1680) Ty = 332+ 110 Flatté [29] [27]
mo = 513 £+ 32
fo(500) Ty — 335 + 67 RBW [30]
0 mgy = 775.26 + 0.25
p(T70) Ty = 149.8 0.8 GS [31] [27]
mo = 965 £ 10
f0(980) gr = 0.165 £ 0.025 GeV Flatté [32]
gr = 0.695 £ 0.119 GeV
mo = 1505 + 6
fo(1500) F(; 0947 RBW [27]
mo = 3414.75 £ 0.31
Xe0 Ty = 10.5 + 0.6 RBW [27]

Nonresonant (NR) Phase space




